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Q.No: 1 In which state was the first zero-based budgeting technique adopted in India? TR & v fFg 50 H T SR I7e deadich Sht HUTAT 4T 417
A Tamil Nadu Aty

B Maharashtra AR

Cc Karnataka e

D Andhra Pradesh arfgmdar

Q.No: 2 Who has released the book ‘Odisha Itihaas’ written by Hare Krushna Mehtab? &R FW Agad g i geass  ‘sifean sfaer’ o1 fame fhem ok 82

A Narendra Modi g Ay

B Smiti Irani wifa &t

Cc Ramnath Kovind T ifdE

D Manmohan Singh wawiga g

Q.No: 3 Which Indian ruler was defeated by Alexander in the battle of Jhelum? Rchex & stem & gg W fohw W 2meres ot wRiford fomam an?
A Samudragupta |

B Dhananand LI

C Chandragupta | T UAH

D Porus oR|

Q.No: 4 India’ s real GDP to record how much percentage growth in FY2021-22? for o 2021-22 # 9RA i arafe S frah vfara gfig o=f wefi?
A 10.7% 10.7%

B 15.0% 15.0%

Cc 1.0% 11.0%

D 12.08% 12.08%

_______ is the only perennial river of the state, which enters Rajasthan at

Q.No: 5 Chaurasigarh, after originating from the northern slopes of the Vindhya I Y geRATS IREARAT Y 8, S fen o1 & I oo @ Fehere IR § o # wdar aeet 21

Range.
A Chambal dae
B Kakni Eacil
c Banas A
D Kali reft
Q.No: 6 Banks create credit _____ . JEdfee_____ T &
A On the basis of their total assets S e e F TR W
B On the basis of their securities sroft wferiferal & omeaR W
C By printing money 4 ST
D On the basis of deposits ST A & AMYR R
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Q.No: 7
A

B
Cc
D

Q.No: 8

o 0O w

Q.No: 9

Q.No: 10

o O w

Q.No: 1

O O m

Q.No: 12

O O

Q.No: 13

o O w >

Q.No: 14

Bhairav Raga is sung during which of the following time of the day?
Evening

Early morning

Afternoon

Midnight

Kirana Gharana is associated with which of the following music traditions?
Khayal

Karnatic

Tappa

Thumari

, a Sufi poet, contributed to the evolution of Qawwali.

Al-Mutanabbi

Al-Biruni
Amir Khusro

Al-Zahrawi

Who is the current chairperson of the National Human Rights Commission?
Arun Kumar Mishra

K. Sivan

H. L. Dattu

Sanjay Yadav

Which of the following rivers is home to fresh water dolphins?
Sabarmati

Ganga

Narmada

Godavari

Dhrupad reached its zenith in the courtof _______.
Akbar

Shah Jahan

Humayun

Aurangzeb

The idea of a storage dam across Beas River at Pong was first

3R 0 A & Frafafea § @ a wr mar s g7
A

TI6-g98

Fur

areferfx

T T Pt § @ e it weoRT @ geifda 27
fon ot
Easitcd

zom
g

Tk g B A hearett & faere 7 avrer R

TR AFATIRR SHTANT & IIAT SIEa8T R 87
S0 FHR s

&. R

Q.G &Y

o gred

frfefea & @ i @ 7 art ol fi S S g g 2

I

YUe __ & eRaAR § oot @A o wR g

SchaR

o

SMESTgt
5
Eiysc

mooted by Mr. C.E. Blaker of the Punjab PWD Irrigation Branch in Ot & a1 7} TR Ueh +{SRvT afy ol faaR ggeht IR gomer PWD Riarg e & oft .8, sdiew gr fone ol < mam am?

which year?

1987 1987
1956 1956
1934 1934
1926 1926

In which of the following years, battle of Plassey was fought?

A T g Frefaida | & e af et mar ar?
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o 0O w >

Q.No: 15

O O w

Q.No: 16

o 0O w r

Q.No: 17 Which Peshwa ruler signed the 'Treaty of Bassein' in 1802 with the British?

A

B
c
D

Q.No: 18

o O w >

Q.No: 19

o O W

Q.No: 20

o O w

Q.No: 21

o O w

1757
1764
1761

1756

Early Nationalists supported whom for the Presidency of Congress in Surat session?

Lala Lajpat Rai
Dadabhai Naoroji
Madan Mohan Malviya
Dr. Ras Behari Ghosh

Begum Akhtar is one of the most popular singers of which style of Hindustani

Classical Music?

Tarana
Thumri
Tappa

Khayal

Baji Rao Il
Madhaw Rao
Narayan Rao

Balaji Vishwanath

Which of the following personality’ s autobiography was translated into thirteen

languages?

Dr APJ Abdul Kalam
Indira Gandhi
Rajeev Gandhi

Atal Bihari Vajpayee

Who refused to allow Rani Laxmi Bai's son to succeed the throne?
Mangal Pandey

Tantia Tope

Savitribai Phule

Lord Dalhousie

When was the Rural Infrastructure Development Fund established?
1971-72
1945-46
1995-96
2000-01

What is the Sl unit of Frequency?
Hertz

Seconds

Meter

Decibel

1757
1764
1761

1756

R gareal ¥ gra itk # wi A sreasrr & g e gEed R

T SrER fRgear ameitg wita i e eft T qas wterfirs e | & v 87

8893

g ORreT *MMeeh = 1802 & Sl & Ty 'R Y T R geder Ry 3
arsft @ 1l
ATEE T
TRTAOT AT

qreTei Ry

Frfafea & @ forg afs Y soTeuT @1 dvg wTeh & srgare fokar mam ar?

< gt sreget swer
SRz mish

arofta widt

sreet fagrdt qrerddt

fraR Tt Aaries & O Y ISTTET R S & A o fo am?
Hireraid

qifear &9

arferftans g

witE semeioht

TTHYOT ST fehr SR Y TATaAT e Y S 7
1971-72
1945-46
1995-96
2000-01

TgRRY T S| ATAH T &2
&
ddbs
Hiex
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fFrfafea ot faemd :
Match the following :

1| ¥forae A st ez

1 | Desert A | Mosses and lichens hid
Q.No: 22 .

2 | Tundra B | Dense and evergreen 2 EY B | g sk wgraEr

3 | Equatorial forest C | Thoms and scrubs 3 Waﬂ. C |=rak

Thd
A 1A 2B,3.C 1.A,2.B,3.C
B 1B,2A 3.C 1B,2A,3.C
Cc 1.C.2.A,3B 1.C,2.A,3B
D 1A 2.C,3.B 1A, 2C, 3B
=il = B
Match the following:
1| Aepersersiar |2 | Oigor

1 Monocotyledons | a Nourishment
QNG23 15 Cotyledons b Seeds with one cotyledon 2 | oA b | v ergAE AT fieT

3 | Dicotyledons c Seeds with two cotyledons 3 P CRIE S ¢ | ardergs e der
A 1-c, 2-b, 3-a 1-c, 2-b, 8-a
B 1-a, 2-¢,3-b 1-a,2-¢,3-b
Cc 1-a, 2-¢, 3-b 1-a, 2-¢, 3-b
D 1-b, 2-a, 3-c 1-b, 2-a, 3-c
Q.No: 24 Which juice has an important role in the digestion of fats? T # fradh! Aewayul g gidt &2
A Hydrosulphate acid gIEgawhe TR
B Pancreatic juice ués
c Bile juice =
D Hydrochloric acid gEgiadiiRG T
Q.No: 25 The father of green revolution is: BRa wifdr & S &
A Dalton Bleed
B Falguni TIHT
(o] M.S swaminathan o g @Y
D Norman borlaug At aRw

Which of the following is made of whipped egg whites and either sugar

Q.Nci2% or corn starch and is used in various desserts? FrrafeRe %9 2 =5, I8 3t 90 i 6l 1 3 Sd 4 s Ak ol B e A oo, B e 62
A Whipped cream FNER A

B Bread A&

c Meringue Far i

D None FX T8

Q.No: 27 Which one of the following possesses vascular tissues? fAfafEa # @ fohad Jag-t Saes gid 82

A mango e

B Bryophyta Eleieaea|

c lichen B2

D thallophyte Aeitrge
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Directions: The following question consists of two statements one labeled as
“Assertion” and the other as “Reason” . You have to examine these two A fFrafafea e 3§ & e & S @ oo &t "sifieme ofik R &t "aRor & w9 F daa v w2
statements carefully and select the correct answer to the question from the SHTeRt 59 AT YAl Y wrauEigde S welt @ ok Ry g Rt § @ v o wd 3w g )

. i tions.
Q.No: 28 given options st (A):?ﬂ?ﬁﬁq’qﬁ?ﬂﬁ?aﬁ%aﬁ?ﬁm%l

Assertion(A):Solar energy is eco-friendly and green energy. !
FROT (R) : TR Fo1f Ieure & fomeft TR 1 wewor e gt g1

Reason(R):Solar energy generation does not create any type of pollution.

A Both A and R are false A 3R R Y s &
B Ais false but R is true. A s @ o R @ 21
C Ais true but R is false. A9 ¢ |f R o g1
D Both A and R are true A SRR A g &
QNo:29 ____ is caused as the focusing power of the eye lens decreases with age. 39 & Q1Y 3G & G I Blhg e P eATFA G h dROT ___ gar gl
A Nearsightedness sraffar
B Myopia wraifar
C Hypermetropia eETAgET
D Presbyopia STt
QNo:30 A is used for petrol. gt & foag ____ 3w famar Smar @1
A Cetane rating e e
B Methane D]
C Octane rating SifeR= e
D Peat i
Direction: The following question consists of two statements one labeled as
“Assertion” and the other as “Reason” . You have to examine these two
statements carefully and select the correct answer to the question from the Fdar F=fafea ner A < wyw § A & ve &) "aiffiee ok g &t "aRor & wu F daa far mar 8
given options. STUH & A el Y AaUTHIgEe Sira Hel & 3R oy Mg faemedt § & a9 &1 F8) SR I 6
Q:No: 31 Assertion: (A) Members have moist skin covers the body, breathe through gills  TfS®e: (7) Te=dl Y T a1 IR Y gl 8, Taws! & Tig kil § ok U, 32 &7 at g &
and have fins, cold blooded. en () SRR AR R iR 3 e 1 &)
Reason: (R) The mentioned characteristic features are of members of
Amphibia.
A (R) is true explanation of (A). (R) (A) r @t =re g1
B (R) is the wrong explanation of the assertion (A). (R) 31T (A) &t e e g1
c (A) is true and (R) is false (A) 9 & &R (R) 7o &
D (R) is true and (A) is false (R) & 2 2R (A) Tera &
Q.No: 32 The domain of water is referred as: STet & & ol Thgl oIldT &
A Ocean s
B Lithosphere RIEHSH
o] Hydrosphere STeHEA
D Biosphere S &
Q.No: 33 The strength of the force is expressed by ________ . el BT arehd ________ BT h STl g1
A Direction fam
B Displacement =
Cc Magnitude ofmTor (AnfRegE)
D Distance covered aa fr mf gft
QNo:34 _____ burns, but does not melt. Sterar &, Ao freerar 7 81
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A Synthetic wool Ridfees 3

B Compostable product T gy IS

C Silk R

D Disposable product Reisiae 3=

Q.No: 35 We can focus on recycling and reuse of resources to retain our ______ for future Ll ‘*ﬂ?ﬂ difat & %q SO ___ ol §IQ T & forg e & geeishor o g U W
generations. AT Shigd P Tavd 81

A Green wealth g em

B White wealth Thg U

C Yellow wealth e &=

D Red wealth T O

In the following question, a series of letters is given. Some letters have been removed

in these series, and they are in the options given below the series in the same order as

they should be. Study the given series carefully out of the four alternatives given
Q.No: 36 below, and find the one that best fits in place of the missing letter of the series.

et v & arerl B g 2jze & 7 §1 5 simensit A go sier el Ry U §, R I gmen &
2 g g freredt & S A A € 9 I g1 eI A fiw T AR Renedi 7 € & 7€ sj@en &t
TS 7T Y 3R SRae & e SreRt & R R T8 freer @i ot aad S 8|

A baaa baaa
B bbaa bbaa
c babb babb
D baba baba
Select the correct mirror image of the given figure when the mirror is placed to the EN oy - :
S Eal i o Sk T frar Ser 1
right of the figure? & é sty i Wt adior of @ T o @ S & ad 2
Q.No: 37
A
B
C
D

A man starts from his home and walks 16 km to the north and turns right and walk 63
Q.No: 38 km. Then he turns 135 degrees in the clockwise direction and walks 70 km. How far is
he from his home?

ek TG ST TR & T & el & SR IR i iR 16 et Tetan & oik and ggan 8 ofk 63 fomht
<era 31 R o afaromad feam 7 135 foft qear § sfk 70 et areran 81 a5 oo R @ et gz 82

A 8 km 8 faft

B 10 km 10 faueft

C 5km 5 fnedt

D Mkm 11 femeft

Q.No: 39 Select the Lettered pair that has the same relationship as given in the question: I SHER G o1 T Y foreret ey ue Ry T wHe wdy @ 8
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Cloth : Texture HYUST : FHEE

A Silk : Cloth A : FHUST
B Ornaments : Gold ST : =T
c Wood : Grains ARt : i
D Body : Weigh R < A
Which of th('a optlf)ns is the exact mirror image of the given figure when the mirror is R & R 1 T 7o oY & T o @ ad o e Ry o 22
held at the right side?
. X
X w M
Q.No:40 |wW M E
E N E £ N ¥
v
w M w M
A
N E N E
M w M w
B
M 3 M 3
W Y] w M
Cc
4 E E
MW MW
D
[l E 7l E
. .. Aman travels towards north to go to his office. He turned to the left and then turned to  G& @afth 307 Frafad STH & g IR 1 SR Srar 31 @8 i 3R 727 ok fR arfl &k 7787 ok
Q.No: 41 N X . K . . )
the right and again turned to the right. Which way is he looking? R & ardt ofik 11 7% forw iR ST <1 82
A West affw
B East o
c North IR
D South faor

In each of the following questions, a statement followed by two conclusions is . A ' 2 Frepst ;
given. You have to select a conclusion that follows from the statement. #a v d, o & 1% e T foa i g1 T F SR A
aret fASeRT a1 TUA AT g

Statement:
T

: The best evidence of India’ s glorious past is the growing popularity of yoga in the .
Q.No: 42 g : ¢ apep ek RS & TREATCA Tl Tl Fa& 3resT T ufs § AT &6t agal aebaa 81

west,
Conclusions: Fremt:
I. Gym and aerobics are more popular in India. 1. 5 iR QRifdey wRa & o1fdes etenfora €1
II. Yoga is not popular in India. L. 2 et & At e 1
A neither conclusion (1) nor (Il follows T &t Frewd () TE (1) SrgeRoT FHRar @
B only conclusion (ll) follows &hae fsemd (Il) srgeRoT e §
(o] either conclusion (I) or (Il) follows g &t fasa () 3 (1) srERoT AT &
D only conclusion (I) follows heret fsa (1) S1FEROT e &
saeilf;:st:Zégztlznt;r;a;::tr‘i::t‘ed to the third word in the same way as the second 30 R 1 T R o R 21 @ Tt R S & S g e et e & W B
Q.No: 43
Cape Town : South Africa:: Doha:? T - SR = g 2
A Qatar HR
Yemen aiq
c Iran KA
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D Kuwait Faa

Given question has main statement followed by four statements. Choose the ordered
pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

f2Q 7Tq mret 7 e U 3R 96 a1 IR HUA & | HUHT I A T G, ST81 Uedd HAT T Al
TR HYT Y 8, 3R & HUA aifchen FU G 7T HYA § G &

A family is either joint or nuclear T ORAR 1 3t S A O g 8
Q.No: 44 A The family is joint A. TIRER 5 8
B. The family is not joint B. RaR % 7t &
C. The family is nuclear C. R gt
D. The family is not nuclear D. URAR g 1 ¢
A BD BD
B AB AB
Cc DA DA
D CA CA
Q.No: 45 Pointing to a boy, Mamta said, "he is the only son of my father-in-law's only child." ek 55 Y 3R 3213[ R Y, WA A g, T8 R G T QAT T B Seela 92T 81" g
How is the boy related to Mamta? AT & fF waR Fafda 82
A Father-in-law R
B Daughter B
C Father foram
D Son der
Q.No: 46 M.anis.h after walking 15 km towards. east turns 135 degree in t.rTe clockwise Ay gd ﬁ'aﬁ? 15 faft 9 & arg ot Y Ram & 135 Rt gean 2 ok 17 fneht =orar 81
direction and walks 17 km. How far is he from his starting position? TE U IR I @ e 7 82
A 9km 9 forelt
B 10 km 10 fFeft
C 8km 8 foreft
D 12 km 12 ety

In thfe foIIo_wmg questlon, choose the palrlgroup of words that shows the same S S N g FefRrT & R 7R 7 e T @ i 21
Q.No: 47 relationship as given at the top of every pair/group.

geft @ AT ?
Bird : Wings : Human : ? a

A Nose TR

B Mouth ko

c Foot w®

D Eye sif@

Q.No: 48 Choose the correct mirror image of this combination- 7 Tt 1 T 2o B - CEDYDTDHYF4653454TYFCHU786
: CFDYDTDHYF4653454TYFCHJ786.

A FSVIHDTYThede2oHIYHATTY IO 0gVLHOTY T2l 2o IYHAOTTY T 1D

B 0SS LTHOTYTreLEZOLTYHATAAYTD GBVLHDTYThe £z IYHATAAYHTO

(o} ASTIHDTY T LECQRTYHATAYAAD 08YIHDTY ThekezabTYHATAYIAD

D OAVIHDAY TR 2oL TYHATAY DT QBVIHDIY T2 LE2LTYHATAY DT

Q.No: 49 which of the options is the exact mirror image of the given figure when the mirror is @7 BT fisrea & ¢ aesfer 7 Tt afor ®fY & 51 avfor it 21 @ik wnfw R San 87
held at the right side?

N4

"l
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Q.No: 50

o 0O W >

Q.No: 51

o 0 w >

Q.No: 52

o o0 mw >

Q.No: 53

>4 £

s

K]
B

=
S

Select the letter-cluster that can replace the question mark (?) in the following series.
CXB, HUI, MRP, ROW, ?
WLD

Given question has main statement followed by four statements. Choose the ordered
pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The system is dependent on either the court or the legislature
A. The system is dependent on the court

B. The system is not dependent on the court

C. The system is dependent on the legislature

D. The system is not dependent on the legislature

BD

AC

DA

AB

In the following question, a series of letters is given. Some letters have been removed
in these series, and they are in the options given below the series in the same order as
they should be. Study the given series carefully out of the four alternatives given
below, and find the one that best fits in place of the missing letter of the series.

abb_a_baabaaba
bcca
abbb
cbba

bcac

Select the option that is related to the third word in the same way as the second pair is
related to the first pair.

Chemistry : Science : Algebra : ?
Geography
English

[ﬂl 94
> A B

frfafe siaen # 39 s1eR-Tg & 997 & it 0% Rig (?) & wfoenfia &= aear 81
CXB, HUI, MRP, ROW, ?

WLD

VKC

WLZ

VKD

g g mrar 7 HReT U 9 SEH 1% IR HU § | T B hiAd G I, STET Ug hY T el
TR FUF 8, SR & HUF difches FU § J& HIT G T 2|

AR AT dt ey a7 faenfienr ) Rk §
A. e =marem w AR glar @

B. Rren =amarerd W FR = gt &

C. fowen Runfie w feR giar &

D. foew e w R 78 gar &

BD
AC
DA
AB

FrafafRa wer f orerf Y gop sjen & 7 &1 39 simensit A 3w sieR g Ry MY E, ok I e &
A2 Ry 71y et & 3ot 7m F & O 32 g wiRe) i Ry 7y ar Rt # @ € 1w sjen &
Y AT & 3R sfael & J 31eR} & W R 76 sy @ist ot @ad 3uged 8l

abb_a_baa_baaba

bcca
abbb
cbba

bcac

39 fached 1 957 AR St R 2reg § I v et & S g@wr g vge g @ Haifda 81
A e : g demioe : 2

e
afisft
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C History gfog™
Mathematics nfora

Q.No: 54 A person travels 6 km to east, then 4 km towards north, then again 3 km to east, then  Ue =k 6 for.#t g it siiR, R 4 6.t IR A 9ik, R 3 6.+ g i oz, fne 5 o+ <faor-

5 km towards south-west. How far he may be from his starting point? offe Y SR A R 81 98 SR IR fig @ et @ R @2
A 10 km 10 fr.sft
B 13 km 13 fon.ft
Cc 6km 6 st
D 1 km 11 fraft

Select the correct mirror image of the given figure when the mirror is placed on the T £ oy gt for Y o7 T o T Y L~ u—ry

right of the Figure.
e

Q.No: 55

2

i 1Y 10

Divide Rs.118445
between Anu and
Tanu so that Anu's
share at the end of
9 years is equal to
Tanu's share at the
Q.No: 56 end of 11 years,

compound interest
being calculated
at 17% per annum.

317 3R a9 & 1= 118445 T0d &t el R anfds 9 af & oig  org o1 e 11 af & ofd 7 a7 & TR & TR |, TRl & 17% vl af it R W 7or7 &t =1 & 2
at e weifag ot &

Then their

respective shares

are:
A Rs.60000, Rs.58445 Rs.60000, Rs.58445
B Rs.68445, Rs.50000 Rs.68445, Rs.50000
C Rs.63445, Rs.55000 Rs.63445, Rs.55000
D Rs.70945, Rs.47500 Rs.70945, Rs.47500

. Ram's family has five member. each member of family drink 500m! of milk. Find sum ™ & IRaR & uia Tewr &1 uRaRr &1 &2 Fewg 500 el gy hiar 81 3m & uRar grr 3uah iy 1

Q.No: 57 . i

of milk used by Ram's family? 8 T IRT 1 FfSg?
A 1.6 liters 1.6 dfier
B 1.5 liters 1.5 i
C 2.5 liters 2.5 iR
D 3.5 liters 3.5 iR
Q.No: 58 Price of a Refrigerator is decreased by 25% due to which its sale is increased by 40%, Ta ¥hoRex &l HFd 25% HH g1 STt & foradh SRuT 39e! [t 40% 3¢ STt 8, @t Iorea A

then find the percentage increase in revenue. ufara gig T ARGl
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o 0 W >

Q.No: 59

O 0O w

Q.No: 60

o 0 W >

Q.No: 61

O 0O w

Q.No: 62

Q.No: 63

o O W

Q.No: 64

o 0O w >

10% 10%
6% 6%

15% 15%

5% 5%

If CP is Rs 750 and SP is Rs 900. Find out the gain percentage. I} v 7w 750 FUd R fama 5w 900 0@ & at @ widee g e
20% 20%

15% 15%

30% 30%

40% 40%

If a sum amounts to Rs.2,190 in
four years and Rs.2,409 in five
years at compound interest,

e e InfsFastid afe g AFA Tehgfeg AT W, TT9 AT aTies €9 & GAIRd gim &, af IR auf # Rs. 2,190 R ufg auf # Rs. 2,409 & St 8, dt = $i aififer & & ghfi?
compounded yearly, then the
annual rate of interest is:
9% 9%
1% 1%
10% 10%
8% 8%
Find the percentage of loss when cost price is 4000 and selling price is 200. g1 <1 ufa=Ia F1a AIfSIg S 33 Jea 4000 2 iR fasa g 200 21
65% 65%
85% 85%
95% 95%
100% 100%
A trader marks his article 20% more than the cost price. How much discount he Yo ATARY 3! g 1 AT 5ed & 20% e sifthd et &1 5% a1 anw SifSid e & g 39
should offer to earn a profit of 5%? forat ge & =feg?
132 % 132 %
2z
1% 112 %
21 o5 2} %
2 2
125% 1259%
2 2
Find the number whose 12.5 %is 64. asmmaﬁﬁmﬁmm 12.5% 64 %I
640 640
412 412
480 480
512 512

Rs.40,000 amounts to Rs.44,100 in 2 years time when compounded annually then ~ %.40,000 &t 7fY 2 o & wmg & =,

find of the rate of interest.
4%

5%

10%

8%

44,100 e UgT STl & ST TeRgfeg sarst Y oM aifiien gt € |t waret Y ) I R
4%
5%
10%
8%
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Q.No: 65

o O o »r

Q.No: 66

O 0 w

Q.No: 67

o 0 W >

Q.No: 68

o O w >

Q.No: 69

o O W >

Q.No: 70

o O w >

What sum will amount to Rs. 6890 in 12 months, if the rate of interest is 12% per
annum, compounded half-yearly?

Rs.2456.8901
Rs.9890.8765
Rs.3476.7501
Rs.6132.075

40% of a number is more than 20% of 650 by 190. Find the number.
900
800
700
600

A type 1 whisky has 40% alcohol and type 2 whisky has 55% alcohol. In what ratio they
should mix together to make a cocktail of 48% of alcohol?

5:7
1:2
7:8
4:5

feramT T, 12 "ET # 12% wfa o Tengfe saret & & §, St srefarfier w0 & i gian €,
6890 T g STY?

Rs.2456.8901
Rs.9890.8765
Rs.3476.7501

Rs.6132.075

forelt T T 40%, 190 & 20% & 190 e g1 e 3 il
900
800
700
600

15y 1 R 40% Siehteet giar & SR 2y 2 fRwh & 55% Sieehiee giaT 81 48% STeahied &l
Pihee g & forg 3% fohwr srgura & e wry e aifge?

5:7
1:2
7:8
4:5

Shiv paid Rs 50 per Kg for 20 Kg of rice and Rs 40 per Kg for 25 Kg of wheat. He - fa % 20 et =mae & forg 50 w02t wifey et silv 25 fobett A & forg 40 w0 iy faseit &t o fomam

sold 10 Kg of rice for a 25% profit. Half of the remaining rice sold at 10% loss,
while the other half sold at 20% profit. He made total 15% profit on wheat sales.
Determine his overall percentage of profit.

15% 15%
16%

14%

16%
14%

18% 18%

Simplify:
317-124 +4+78 - 13 +6(3-8)

254
258
226
262

If the supply of iPhone was decreased by 5% and the demand was increased by 15%,
then what was the effect on the total sale.

Increase of 8.25%
Increase of 10%
Increase of 9.256%

Increase of 9%

Find the missing term.

(93]
o

s |

I 25% a1 U= 10 foram =rae <=m
S AT T 31T 10% B TR ST 74T, STdfch 30 SMME 20% AT TR sl 4Tl
I A i forfY W T 15% w1 FHRT IHhR Hot 1 7 AT 2 9 A

T HIfoT

317124 + 4+ 78 + 13 +6(3-8)
254

258

226
262

af o - T Y gl F 5% Y et € 1 ok Wi 15% 6 gfg 8 1, at et ey R e v
gl

8.25%
10% B i
9.25% i
9% P afy
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A series is given, with one term missing. Choose the correct alternative from the given fRmfeif@a wsr 8 ver sigen far man & e e ue g €1 Ry g Reredl & @ 98 @8t Renew 9w

ones that will complete the series. St IR B R |
Q.No: 72
BDF, CFI, DHL, ? BDF, CFI, DHL, ?
A EJO EJO
B CJM CJM
c EML EML
D EMI EMI
Q.No: 73 If BLACKSMITH' is coded as 'CNBELUNKUJ', then 'CHILDREN' is coded as- af 'BLACKSMITH' & @IS 'CNBELUNKUJ' &, &t 'CHILDREN! @1 s T gim?
A DJJNETEP DJJNETEP
B DJJNETFP DJJNETFP
c DIJMESFO DIUMESFO
D DJINETEP DJINETEP

Which one of the given responses would be a meaningful order of the following

Tl e & § @ -1 feea = Ry gy weal & arfs w9 &t gxfar 82

words?

1. Nation hi
Q.No: 74 2-Village p- ™

3. Taluk 3. e

4. District &y

5. State >
A 1.3,5,4,2 1.3.5.4,2
B 1,2,3,4,5 1.2,3,4,5
c 2,3,4,51 2,3,4,51
D 2,3,4,1,5 2,3,4,1,5

Which two signs and numbers should be interchanged in the following equation to R 4 2ol e & R Rt @ Rt an el @ onww & )
Q.No: 75 Make it correct? ’

+6+ -2=
8+6+3%x12-2=12 BroFaxiz-=2=12

A - and + 3 and 2 - 3R+ 3R 2

B +and + 8and 3 + 3R+ 83k 3

c +and X, 6and 12 + R x, 6 3R 12

D -and x, 6 and 12 - 3R %, 6 3R 12

Q.No: 76 In a code language, INFORMATIVE is written as ROFNILEVITA. How will SUPERFICIAL fardfY e smrar ’?, INFORMATIVE & ROFNILEVITA forer s 31
be written as in that language? 3t e v & SUPERFICIAL @t i forar smgm?

A REPUSGLAICI REPUSGLAICI

B USEPRFICAIL USEPRFICAIL

C LAICIGREPUS LAICIGREPUS

D REPUSELAICI REPUSELAICI

Q.No: 77 Find the missing term. q % T g
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o O W >

Q.No: 78

o O W >

Q.No: 79

o O W

Q.No: 80

o O w

Q.No: 81

o O W »r

Q.No: 82

44

78 34

30
42
75
35

15 44 15
84 65 78 34 84 65
9 5 2 2
30
42
75
35

Six movies are telecast on six consecutive days of the week, starting from Monday. AR & {& gie TWg & AR o8 ! § o8 fhen! a1 varor fohar s 81
Rambo is telecast after Diago. Noorig is telecast between Diago and Akira. Blade is  f¥amit & arg Tt o1 wrRoT giar &1 38 a1 waRon f&am ofiR SrhiRT o <ffer e &1
telecast immediately after Hungaama but before Akira. Which movie is telecaston  &THT & gid a1g @t STRRT | Ugdt oig ol TIRUT f3RdT ST &1 YRR T -

the Friday?
Noorie
Akira
Blade

Diago

If A=1, CAT = 60, then MAN =?

ot fhe T HEROT e 82
ksl

3rehiRT

=

feammt

af& A =1, CAT = 60 & @ MAN =?

182 182

27 27

90 90

180 180

If MOBILITY is coded as 46293927, then EXAMINATION is coded as: af& MOBILITY &7 g2 46293927 & 7, EXAMINATION & &e & -
56149512965 56149512965

57159413955 57159413955

45038401854 45038401854

67250623076 67250623076

In the question given below, some statements are given followed by few conclusions.
You have to consider the statements to be true even they seem to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any

follow from the given statements.
Statements:

All fashionable are addicts.

All addicts are noteworthy.
Conclusions:

|. No noteworthy is fashionable.

Il. Some noteworthy are fashionable.

both conclusion | and Il follow
either conclusion | or Il follows
only conclusions Il follows

only conclusion I follows

On the seven members panel sitt
on the immediate right of ‘D’ .

‘S’ ,and ‘T’ isonthe left of
sitting in the middle.

A

912 fRu 1q war F, To Fu o 39 a1e oo e g g €1 suel Al A g AR, v @t
HHE: 719 Tt @ 9 wdia gia g1 st ag aa e @ % R g st § d @ @, afe wid
&Y, g 7g e T SrgERor dRar 8

FHUT:
goft theReer 99 &

goft 79 Seetaa €1

e

1. g I e A8t 81

II. T Ieera-t thariead

Freamf | ok 1| 24T srgeror a=a &
ar at e | o Il SrgeRoT Fwar @
et Free || 1RO AT &
dhae FAeme | rgeRoT e @

inginarow ‘A’ istoimmediate leftof ‘B’ , but o i 7 4% e Tl & O 3 AT 'R % v el o &, AR D' 3 S Al SRR QY A B

‘Q, lson.thenghtof A‘ ?utléontheleﬁof MR, ARFT'S F A MBI T, Y F A o R, S D' & ard ok B mey F R-a ot
Y’ whoistotheleftof ‘D’ .Find the member 2

A
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Q.No: 83

o 0O W »

Q.No: 84

o 0O m >

Q.No: 85

o 0O w >

Q.No: 86

O 0O w »r

Q.No: 87

o 0O o >

Q.No: 88

o O w >

Q.No: 89

Simi is older than Renu. Geeta is younger than Renu. Priya is older than Simi. Who is
the eldest of them?

Geeta
Simi
Priya

Renu

Which letter will replace the question mark (?) in the following series?
Y. XV,S,2.J
Q

¢]
N
P

Daksh is taller than Manik but not as tall as Rohan. Somesh is shorter than Daksh but
taller than Farhan. Who among them is the shortest?

Daksh
Cannot be determined
Farhan

Manik

The digits of a two — digit number differ by six. Find the difference of the number and
the number formed by reversing its digits.

54
66
84
48

Find the smallest number of 6 digit which when divided by 3, 4, 5 and 6, gives
remainder 2?

100022
100034
100043
100002

Total cost of 3 tables and 2 chairs is Rs. 1300 and that of 2 tables and 3 chairs is

Rs. 1200. Find the cost of one chair.
Rs. 250
Rs. 150
Rs. 100
Rs. 200

Which of the following is divisible by 6?
86512
22578
43132

Roft, @ = 81 ofte, [ A S 8, B, et A e A S v smr v 82

i
fonft
et
"

et sjgen § & i @ s1gR &g (?) & = W sTgm?
Y, XV,S,2.J
Q

(o)
N
P

%81, qfe § @i &, S g1 § oar 78T &1 Qi 387 Q Bl § afth e § o 81
4 ¥ B 9 Bler 82

38

AT gl fear S geRar
e

H1fHe

@ ofepl &Y Tt & iR A ©F I IR §1 IHR STl T IeTet T AT SR TeeAT T SR T
HIfg

54

66

84

48

6 St I I8 TIY BIE TEAT F1 HIGA i 3, 4, 5 iR 6 T QS = W W 2 Taar @?

100022
100034
100043
100002

3 A iR 2 Rt &t gt 7o 3.1300 3 3R 2 AT 3R 3 HRT a1 e 7e9 2.1200 81
ek Gl T 3T e aaTsd|

250 =.
150 &.
100%.
200%.

Frafafes & & & 6 @ Rarsa 82
86512
22578
43132
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Q.No: 90

O 0O W

Q.No: 91

o O w >

Q.No: 92

o 0O W »

Q.No: 93

o O w >

Q.No: 94

Q.No: 95

o O m >

Q.No: 96

34678

Which of the following is divisible by 4?
349870

237684

406882

6070602

The area of parallelogram is 70.98 sg.cm and the corresponding height is 7.8cm, find
the base of the parallelogram?

1941
9.1

101
11

What is the greatest number that will divide 407 and 424 leaving remainders 4 and 8
respectively?

13
18
27
14

Simplify:

(6)°=(36)°x216 = 67
4

7

6

1

V8 — 2415 is equal to :
V5+V3

3-v5

V5-+3

5-+3

What value would come in place of the question mark (?) in the following equation?

NV W NG

A sum of Rs.312 was divided among 100 boys and girls in such a way that each
boy gets Rs. 3.60 and each girl Rs.2.40. The number of girls is?

65

34678

Freflfea d a9 4 9 g §2
349870

237684

406882

6070602

THiTR =TT ol Bsther 70.98 aif Qeft & ofik W e 7.8 Gt 8, THicR ISt T SMUR W1
Hifeg?

191
91

10.1
1

IE eI T T A R, [ 407 3R 424 &t fFnfSa ot wR Qw swas: 4 8k 8 smgm?

13
18
27
14

TReAIgd e
(6)'+(36)°x216 = 60~

4

V& —2y15 wrew ¥ -
V5+ V3
3—+5
V5—3
53

fraforfaa gt A gsrame &g (?) & WM 0 91 99 Sgm?

1.3 _1 .3 18 35
3-+2- +7--50--=—
7 "5 s 77 35 ?

5
7
3
9

100 Tigah! 3R refmal & St 312 T0d Y MY 59 avg & fawiig i 7 of {5 vl o
HY 3.60 TH SR TAE ASH A 2.40 T9 A € | Tsfrat Y T &7

65
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Q.No: 97

W >

o O

Q.No: 98

o 0O W >

Q.No: 99

Q.No: 100
A

B
C
D

60
40
35
Simplify-
1175 x 1213

13317% X (14641)11/4

n
1

112

-1

Find the greatest possible length which can be used to measure exactly the lengths 4
m 95 cm,9 mand 16 m 65 cm.

47
49
M

45

The base area of a cuboid is 34 sq cm. and height is 3.5 cm. Find the volume of
cuboid.

60
40
35
TR -
1175 x 1213

13317% X (14641)11/4

n
1

112

T T} Torg TS T R, et Iuah 4 Hex 95 Fft, 9 Hiex ok 16 Hiex 65 5t HY
T AT & forg far < Tendn &1

47
49
41

45

e ST T SR @thel 34 ot St &1 ok Sarg 3.5 @t &1 =1 1 s1maad I HifSg

108 ¢m? 108 =
57 cm® 97 3=
125 cm? 125 J&r
© MPESB. All rights reserved
119 em? 119 3=
Which of the following is divisible by 5 and 3? fafEd & @ & 5 ok 3 ¥ s 82
7660 7660
3635 3635
2125 2125
6225 6225
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